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- 310  Water flows around the vertical two-di-
- mensional bend with circular streamlines and
- constant velocity as shown in Fig. P3.10. If the

- pressure is 40 kPa at point (1), determine the
- pressures at points (2) and (3). Assume that the
- velocity profile is uniform as indicated.

YYYYYY

| 'FIGURE P3.10.
VR L b B2y nd V= somss

‘:‘jg‘“=-b" —P—-— or

f%d =—fa‘dn 2/,,0,{”

| 50, z‘bm’ since a‘anab Vare co//sfam‘s

L= =-¢n - oV fz—,—,; |
n=0
T/)u.s
LA N -V * (%)

or

- and
with = %0kf and 75 c2m /g %okﬂm 9, 00X10"

or

W/{/; 2y = ¥0kPa and n, =1m g, yok&:f’fk/o;;a(/m)
' - 999 2% (102" |n (-£-)

7 (2m)

~999 &4, s (108 //5 (5)

3-3




